U—18BEEBHvyh—1)—42013 1&BFE

] A H = 15 XvoFt7 B
15 48138(1) |BEHmHRBAEYYyh—IE| 11:.00 BEITX¥ 3 - 3 MHE
13:00 BE¥k 3 - 0 £EIE
o S AR 12:00 AU 1 -6 @EEEHAIF
14:00 BEE 0 -1 F&X
E2H 48208(1) |BEHmHRBLAEYYA—IE| 13:00 BERFERE 3 - 1 HE
15:10 SR 2 -0 f£EI%E
F = 1a=D] e i = AR 10:00 BEIE 1 - 4 HMEEAUF
482380K) 12:00 B/E®E 7 -1 #W
£ 35 48278(1) |BEHHNBLABEYYA—IE| 11:.00 EEITE 1 -1 £BR
13:00 BERFER 1 - 1 K
HMEER 10:00 mMEEHAVE 5 - 0 B
12:00 L o0 -2 £EIZE
78] 5A38(%) B SR 12:30 EyEE 1 - 1 EMEEAUR
14:30 L 1 -3 BX
REMTHNRNEBLEYYA—E| 930 "BE®E 1 -0 1HE
11:30 BEI% 0 -0 £3I1I%
E5E 6A8H(L) |mRET+NELBEYYH—IE| 11:.00 BEHE 3 - 3 @EEtHUR
13:00 BEIX 0 -1 FK
LT EBRKR—YLES 11:00 HME 3 -0 REITX
13:00 Bkl 1 - 0 Al
68 6R228(L) EILTHAEERR—Y LS 11:00 BEi¥iR 1 - 2 BEER
13:00 BEI¥% 3 -0 FL
WhEGFZ BRILIE 11:00 mELEHAURE 5 - 0 £EIE
13:00 BA 0 -0 HE
75 6H298(x) |EBEW+NBLAEYYH—IE| 13:30 BEgERE 5 - 0 EEIXE
15:30 EEHE 4 -1 fLEI%
i 7S AR 10:00 Bl o1 -2 HE
12:00 WMEEAUR 1 -1 BK
%8 7A68(1) BEZEBABEISIUE-A | 1100 e 2 - 1 fKEITE
13:00 BEEI%X 2 -2 HMHE
FEER 12:30 ML 2 - 4 REEEHAUF
14:30 BEE 1 -2 BA
E O 7R13B(2) |EET+HEBLAEYvA—IE| 9:30 ERFERE 1 - 2 HE
11:30 BAR 4 -0 £EBEIE
D=5 10:00 BEIE 0 -0 MEEAUR
12:00 BEE 3 -1 L
%108 7R208(1) |EET+EBLAEYYA—IE| 9:30 BEITXY 2 -1 EBE
11:30 mMEEHAUR 3 - 4 FHE
13:30 BERZR 2 - 4 BEA
15:30 L 1 -3 £3I%
£114 7R278(1) WhEJ)—2T4—ILR 11:00 BE®E 2 -0 fEHE
13:00 L 3 -3 BAN
8A28H(K) B SR 11:00 ERZEE 1 - 4 EEEHAUR
8H24A(L) e i = AR 13:00 BEIT¥ 2 -0 £EIT%
£128 8A31H(L) WhEJ)—2T4—ILR 11:00 BEIE 2 -0 EFEX
13:00 HE 1 -1 £3I1%
BEZEBABEISIUE-A | 1100 B 2 - 0 ELW
13:00 BEE 4 - 3 @EEtwHUR
%13 9A78(L) |wBET+NBLEYYA—I5| 900 BERFR 4 - 2 1EEE
11:00 BEIX 1 - 0 EWL
13:00 mMEEHAVR 1 - 2 &BEIE
15:00 BA 0 - 2 B
£148 9A14B(x) |BEMTHNBLEYYH—IH| 13:05 P sl vs EEITE
15:05 BER vs SETHE
mEYYh—I5HIT I SHUR| 11:00 Bl vs HE
13:00 HMEtEhUR vs A




